Paper / Subject Code: 23113 / Business Economics V

[Time: 3 Hours] " [ Marks:100] -

Please check whether you have got the right question.ij_aper.

N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.

Q.1.(A) Select the right answer and rewrite the statement. (any 10) )
1) Social infrastructure does not include : -

a)  Agriculture b) Education
¢)  Family welfare d) None ofthe above
2) ' is an initiative to make India a manufacturmg Iaub
a) Skill India b) NITI Aayog
¢) Invest India =dy. Make in lndla

3) Project approved by Foreign Investment Promeﬁon Bea‘rd IRB) 15
a) Coca-cola - i
¢) McDonalds

4) The average agrlcultunal growth ratc since 2000 is
a) Aboved% .- ~b) Lessthan 4%
) 4% d) Nsne of these

5) Kisan credit carcl wﬁ\s introduced by LT T
c) Co-operatwe banks &

l Mini, small and medium Enterprises
; _Lgﬁs’
Mlcm, smaﬂmd mcdmm d) None of the above

b) Soochna (Information)
d) All of the above
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Paper / Subject Code: 23113 / Business Economics v ) ,\ 2 :

10) Virtual banking aims at rendering banking services through
a)  Branch expansion b) Advancing cheap credit
¢) Use of IT services d) Deposit mobilisat-i'on

11) Which of the following committee was established to suggest m*surance sector _ 57 2
refon’ns‘? o " o - g ¥ -
a) Malhotra committee b) Rangarajan commltteew ) '

¢) Narashimhan committee d) Raja chelllah Commlttee

\.

12) Money market deals in the borrowmg and lendmg of! shert term loans for a perlod of

a) Less than or equal to 565 days b) Less than or cqual*taAﬁS days >
¢) Less than or equal to 365 days d) None of the above F TR LS

Q.1) (B) State whether the following statements are true or fa]sa Y any 10 ) 2 DS 10

1) The New Economic Policy 199 B was anneungecbby the, unlon ﬁnance Mmjster Dr
Manmohan Singh. <

2) The SDGs and Millennium Development Goals (MDGS) are me,

3) The FDI policy 2017 has givena boost to foreign ‘investments in startups

4)  Agricultural price policy is necessary to improve terms of trade i in favourof farmers.

5)  Share of co-operative. banks in institutional agricultural finance is declmmg

6) Regulated markets render useful ‘service both to.the pmducers and consumers.

7) IPO and FPO are identical methods of dlsmvestment

8) SIDBI s only a reﬂnancmg ;;.gency and?joes not prowde dlrect asmstance to small
units, ; ‘

9) India has severaUeglslations fbrﬁpre" ntlon andxont?“ of ndustrlal pollution.

10) Internet bank,mg isa product of e-cmnmeree m the |eld of- bankmg and financial
services. .. . "

[1) Under “alt

rngney market ﬁmds are t“ransacted 131'[ month Iy basis.
ndla have ‘not helped the capttal market to grow.

T I

Q.2) \Ansyer any f}mlaf th” .follewﬂ s

- '.' 1 5
a)-< @mc“ues J:he roleo gocm14 ) "_- _ tyr.e,m %duoatlon
b) % -?ganune»tvanous s}gill’deveiqpment an trammg programmes.
) Discuss tf@égvan__ s advantages of«fm‘elgn direct investment.
o ‘_Answcr ztny«tntb of ;he followmg 15
2 ) Explaln the t main featugcs of: the’ Natmnal Agricultural Policy 2000.
S b) :Cﬂt“%aﬂy eé;ntt_)g ”the“a'”_’.‘, _fgratlfprlce policy of the government of India.
e AT 15

Eﬂu&‘l

b

’."'ments of disinvestment policy in India.
-tcs control industrial pollution in India,
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Papér / Subject Code: 23114 / Commerce V

Time: 3 Hours Marks: 100

1. All questions are compulsory
2. Figures to the right indicate full marks

1. (A) Select the most appropriate answer from the options giv“en"b'elow (Any Ten) ~  (10)

)

2)

3)

4)

is also called as Cause related Marketing

a) The Product concept b) The Societal Marketing concept
c) The Marketing concept d) The Selling concept

is the first step in Marketing Research.
a) Setting objectives b) Follow up
¢) Defining the problem d) Creating Research design

is one of the techniques of CRM.
a) Market Segmentation b) Market Domination
c) Customer Feedback d) Market targeting

refers to the set of marketing tools that the firm uses to pursue its

marketing objectives in the target market.

a) Market Position b) Marketing Mix
¢) Marketing Research d) Market Coverage
5) __isthe actof creating a distin__é.t p__la_(;é\i\n_v_the minds of the customers.
a) Positioning - b) Branding -
¢) Pricing d) Labelling
6) In pricing strategy, a firm offers the same product to customers at different
prices. i
a) Skimming b) Penetration
¢) Differentiated d) Follow the leader
7) ' 1i's";it-he form of Multi-level Marketing.l
a) Pyramid Marketing b) Network Marketing
c) Referral Marketing : d) All of these
8) Integrated Marketing Communication is a activity.
~ @) One time ST A R b) Occasional
¢) Continuous d) Rare
% 9) : __Marketing refers to catering to specific needs of a small segment of consumers.
: a) Aggressive b) Niche
¢) Online d) Digital
10) - refers to online commerce transactions between customers.
a) B2B b) B2C
c) C2C d) None of these
73854 Page 1 of 6
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Paper / Subject Code: 23114 / Commerce V

11) is not a suitable marketing strategy for Rural Markets.
a) Syndicated Vans b) Banners
¢) Melas and Fairs d) Augmented Reality
12) is a strategy by market followers.
a) Flank defense b) Flank attack
c) Adapter d) Pre-emptive defense
(B) State whether the following statements are true OR false: (Any Ten) ' (10)

1) Test marketing means introducing the product in a small segment of the market.
2) Consumer behavior is accurately predictable.

3) Selective specialization is also called as Multi-segment market targeting strategy.
4) During decline stage, the firm incurs heavy promotional expenditure.

5) Strong brand associations lead to high Brand Equity.

6) Penetration pricing strategy may be adopted if there is intense competition.

7) The terms ‘Multi-level Marketing’ and ‘Multi-channel Marketing’ are synonymaus.
8) Advertising is a non-paid form of sales promotion.

9) Data warehousing is one of the components of Sales Management.

10) Consumer organizations may provide assistance in legal cases,

11) Green Marketing helps firms to build their image.

12) Over promotion may lead to brand failures.

2. Answer ANY TWO of the following: (15)
a) Define Marketing. Explain its functions in detail.
b) What is Data Mining? Discuss its significance in Marketing.
¢) Explain the term Markﬁt Segmentanon” Whag are the bases of Market Segmentation?

3. Answer ANY TWO of the folloWlug e s)
a) What is Branding? Discuss its components.

b) What do you mean by Ser\nce Posntlomng'? Dlscuss the challenges in Service Positioning.
c¢) Explain the factors a.ffectmg the pncmg ‘of aproduct"

4. Answer ANY TWO of t’he followmg. A as)
a) Explain t the traditional channels of dlstrlﬁutlon in Marketin g.
b) Explain the term Promatxon Mix. DISCHSS the elements of Promotion-Mix.
c¢) Discuss the process of Personal Selling.

5.  Answer ANY TWO of the following: (15)
© a) Explain the general role of consumer organizations in protecting consumers against unethical
practices by marketers.
~b) What is Digital Marketmg" Explain the trends in Digital Marketing.
¢) Discuss the skill séts required for effective Marketing.

73854 Page 2 of 6
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Paper / Subject Code: 23114 / Commerce V

6.  Write short notes on ANY FOUR of the following:

a)
b)
©)
d)
€)
f)

73854

1

Marketing Information System

Packaging

Components of Sales Management
Competitive strategies for market challengers.
Brand Equity

Green Marketing
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Paper / Subject Code: 23120/ Computer'féj!stenls & Applications Paper-L .-

\93\‘\9(\ {“C,

é‘\lY‘r : 2% Hours '

Note: 1) All questions carry equal marks and are compulsory.
2) Figures to the right indicate maximum marks for a question.

QL. (A) Attempt any two sub-questions from (a), (b),(€) Yin's J\: sk
(True/False) e
(@)  Shift key is used to select a non- contiguous J:a»uge.-

i (b)  There are two types of cell references. Feas
(c)  Apivot table is a dynamic summary uf thP d“ata

(B

(Multiple Choice)
fd) Toindicate that there should bQLS\
i)DECIMAL(7,2) u]DEClMAﬁ(szJ -

]- g
(€) When one query is written Mﬁfﬁl’mannthsr.‘quel‘)&‘tis !;e‘gg'lqd S >:f» &
i) Mini query i) Nem\u&y 2 ““lﬁ? Shl?nﬁe\r?\% g E‘Cflv] Jgﬁd qﬁeg
(. (f) InMySQL, the operatuL\LIKﬁ%'Rg?fmﬂs mﬁjctﬁfuf_ Qsm‘?\\g‘k NC::::“ 5
i) Ending with R “LW vith R.,.]@} ﬁbnlam\‘g:f{\“‘“ g {‘bntam?ng R%

LY ] ‘t‘k’:’ﬂ“\' Q % .\

S SN O S
(C)  Attemptany six :sqb@@q M 00,00l G ©
: in’Data Comm@}&h%k,ﬂ@#@rmg;gfd l'l‘ﬁ‘em ‘Ef,]jr' ] it:%?}

b . +(8) _ The data transiuission’cin EaReplace without a Protoeok (VS <

" (h) " Inclient se,\ng_er ar lq x@%ﬁh@w@s a\:g,cqng:qﬁ’g@fﬁ gq; server.

() In ring&bpﬁﬁa"@& % Lfbf-gﬁ ~r_i?ié‘)az‘gj‘l)llsiat a\&eat,tﬁﬂﬁmctlonmg of the
3\/,0{\_ & ’ ,-‘.- ‘t‘ _\v \... 2 'w
netwdrk: %\55. SFTE S .~3 N
@ Coaﬁal:aéﬁle b2 ‘r;eﬁstﬂqrr twisted -pair cable.

(k) 3&3 adev aﬁﬁ@ﬁg\‘“{h i‘{}u\fsgmeﬁt:f]a?ger network into two

A A 3T A = -
ﬂumvessmwéw
B book ik .

S ErdioGn 06 be senex ﬂgﬁ"’ '

S IS TR R ORIRS c,w ,

- SN Vit uSey Voiby W ek ~

(‘ LSS «f".»@--‘&{f‘ & ‘C‘{QJ\'C, c’i‘ = \\._J\_‘v?t»;"qﬁ“ ‘5}' .
‘\{‘:\ e ;_"':mi\_' :‘J‘x-}_‘v\:—' A ' o ol i i )
: SO S A @%ﬁx \Qégﬁm (P). (@) (r).(5).(8), ), (v), () (5)
W N RS ﬁ nicatt rjéng and Internet. (Multiple Choice)

cities and countries. .
y"?rc‘? iii)WAN . iv) None of these
b a't carries the message is referred to'as the

iti) Communication channel iv) Transport
iodes are connected with a single cable. '

Bis S ﬁ{-\ﬁﬁ ng iii) Star . jv) None oft}i_ese
QP siaplstoro s | - 2 K |
ﬁ“{‘\ﬁst’gfﬁﬁgﬁﬂ:ocol : i) Post Open Protocol.
COpeTate Protocol .~ 1v) None of these . »
ﬁacket moves from upper layers to lower layers, headers are —
:' ii) Rearranged m] Deleted _ iv) Modified

ity of updating a blog is called .
ii) Blogger iii) Presenter . iv) Hacking

183EEBCCIF1C520A6E219E91F3060F2C




Paper / Subject Code: 23120 / Computer systems & Applications Pap'é_,rv'i :

) is a meta search engine. _
i) Dogpile ii) Google -iii) Alta Vista -
(W)  AnIP address is made up of bits.
i) 64 e iii)16
Q2. [(4) Answer any one “sub-question from (a), (b) i

Networking and Internet.
(a)  Explain i) MAN ii) WAN

.(b) - Write anote on Bridge and Router.

{B) Answer any one sub-question fr
Networkmg and rnternet

;3;2»%;,-,{, N
(c)

(d)

Q3. (A) Answerany one sub- qqesmm ﬁ:ﬁ‘m (3):
(@)  Write MySQL smtenLent?otfeama tahle
Employee Number;;‘(ﬁ&& dnte;

characterw1thvaﬂqb%’ﬁtﬁ25 ﬁ‘akt of]ommg
(DO], Date) angg'@%ﬁ:‘r- ; ] 12l \“ﬁ’efau!tvalue
18000). - ',_,‘ ; ;",},“‘@

mgw%mmn having+

\.

m&w D
J*I!@‘?&Q : °1§m?im‘HNAME()

T -
-C "'\- RS
a "\1_\"-" -

4) DATE()

KART-having the columns Customer Number (CNo,
_ _g[n_qr*-ﬂ \Ve QNAME character), Product Name (PNAME,

é _ Am?gms‘i"‘ﬁlteger) and Date of Purchase (PURDT, date).

c following,
P YAy _
sPthe table FLIPKART.
e row of data in this tzble. :
PNAME - | TCOST | PURDT
A | Realme2Pro | 9000 | 2019-04-10

ﬁi’ ] g\mﬁr where Customer number is 950,
ds __Qm:ﬁfolumn Discount (DISC, integer) at the end of the table FLIPKART

] Product Name to NOKIA for Customer name “Ramesh Shah”.
the size of the column CNAME to 25 columns.
e the table FLIPKART as FLIPCART.

Page 2 of 5
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/ Paper /_5;§ubject Code: 23120 / Computer systems & Appiicatiqns Papé;" I '

’ Q4. (A) Answer any one sub- -question from (a), (b) in MySQL AN

(@)  There exists a table GOAIR having the columns Flight quﬁ'e}; (FNOAmtegﬁg[] -
ﬁ&h’,} mtegprL “Fare?. S

Destination Name (DNAME, character), PRN Numbe :
Amount (FARE, numeric).

Write MySQL statenients for the following.

iJ Dispiay Flight Number, Destination Name an
ii) Display Flight Number and Fare Amount farﬁeﬁ‘éﬂ:q’ﬂs{\wﬁ
is below the average Fare Amount. S =&
iii) Display PRN Number, Destination Name fur}@e’\te _\ ?_
is equal to the Highest Fare Amount. ~‘~,\ '

iv) Display Destination Name, mammuth ?kt};gd‘_g
from the table for each Destination Name,, .,Q@»_ _- : a, v
v) Display all the rows from this talﬂe{‘ﬁ “éni’hﬂ

(b) - There exists a table ABPCQ@;;E
"~ 7 integer, prlmary key), Na ;

integer, primary key); ,H.\
(> (PERCENTAGE, integey ,;md
Write MySQL stater
i) Display Name

W (B) CAgspecanyong Sib-gudson .qé’ nySQL
o rexist e BAT 0 g‘o{ﬁmns Employee Name [ENAME
yartmight ame (DEP: éter] Date of Joining (DO}, date),
JDumerie é@ ipinteger).
ineR "né'
hén \;tzjf@alary and average Salary for each
SRR
3 ‘g_,' ,'\ u*,«%
‘hﬁd rand maximum of the Salary as per date of
p .

--._,: _\

theé Salary is equal to maximum Sa!ary
rtment Name and Salary where Age is more
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0

Answer any one sub-question from (a), (B) in MySQL : '
There exists a table GOAIR having the columns Flight Nu‘i’xibeg (FNC) ingegetg},
Destination’ Name (DNAME, character), PRN Number‘ EEN}
Amount (FARE, numeric). %
Write MySQL statements for the following.
i) Dispiay Flight Number, Destination Name an 1&
ii) Display Flight Number and Fare Amount fonﬂidﬂéotd&wﬁ
is below the average Fare Amount. SO FEE é:{fi
[ Q g

iii) Display PRN Number, Destination Name fm{ﬁk’\ﬂ! COTgS) Wblg'k &R
is equal to the Highest Fare Amount. \\‘* L oyl
iv) Display Destination Name, mmm%
from the table for each Destination Na"me& _
v) Display all the rows from this taﬁq’ﬁi\ﬂléd’w

S$s
There exists a table ABPCO@.&@@%& A1 i ér
integer, primary key), Naj Efﬁ_&hﬂtﬁgﬁfgﬁy}\ : ’%E:” 55 (CLASS ¢

ESUET:cortaining:coliryas Roll Neibes-

integer, primary key); ,aﬂ:nﬁt&fl{ﬂﬁ\%‘{\'[\ i dnteger); ~Per
(PERCENTAGE, integet) a i
Write MySQL statequn‘fé&n
i) Display Name, Ql%g:
mere than 560 l@hf@&@r

,x IS
i) Display Nan}eL{ '_ aﬁm‘de\oﬁqﬁdents etﬁ.ﬂ\&c@ ﬁ:iQ JI mg both'the
tables. & S

-

(v

'E;‘- Y «? \-' * J"‘Q
¢ el Number i is divisible

@) n sl NG
Eﬁ ;ﬁmﬂs Employee Name [ENAME
Charagter), Date of Jommg (DOJ, date),

=.‘ eger)

m‘@'
K HQ.
[ﬁand max1mum of the Salary as per date of

@alary and average Salary for each

Salaly is equal to maximum Salary
partment Name and Salary where Age is more
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23800
56000
72300
64200
28000

.

=Ts]
=
5

| Vijay
4 | Bhavana
5 | Karan
6 | Shiv -

SALESMAN
2 | Shantanu

Total Commission

) Additional Commission

1 | NAME OF
maximum.

7 | Poornima
Write the steps to calculate

4

3
i)

i) Commission at the rate of

The foll

ii
ii

Paper / Subject Code
(c)

Page 5 of 5
183EEBCCIF1 C520A6E219E91_F3060F 2C

Explain

(d)

51570,
o __.».a\ﬂ,_




B

203" o]
Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Coet Accoux.tmg

Time 3 Hours SR Tﬂt%lMﬁ}ks
N.B.: 5 N .~:. ~e. . T \«: 305 o . .\‘I..

All questions are compulsory
Figures to the right indicate full marks allotted to the question<
Calculate figures upto two decimal points whenever requlred

Working should form part of the answer

B =

Q.1 A) Select the most appropriate answer from the followl'!' s (ar

1. Cost accounting is directed towards the need of ~~<—-<—- - SFIITFE T G
e Government _ : ot S R P S SR
e External users B e N a4
e Internal users oy S ¥ ST A
e Shareholders = - 5
2. Continuous stock taking is a part of ~--=s-sroeteescl 00 0 0 S e
e Annual stock taking SR L T F i 7 5 S £
e Perpetual inventory
e ABC analysis ; \ *« ;
e none of the above g

4,
° Purchase of matc_.lal S '
° supp,ly of matcrla.] from stOres &
_-C‘anb mmlmlzed
Caﬁnot be avmded
o Page 1 of 14
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I?ilper / Subject Code: 23107 / Financial Accounting and Aud:tmg VIII - Cost: Accoungng

7. Directors remuneration and expenses form part of ~----c-eeeeeeee

Production overhead

Administration overhead

Selling overhead

Distribution overhead

8. Overhead Expenses can be classified according to

® Functions
® clements R A
e Behavior R e o e s
o All of the above . S R S e
9. In the cost sheet, income from sale of empty containers used for di'spa_tch,__._of the’_\g_q't;_ads. produced
shall be PO e e

® added to cost of production SngC :
® deducted from cost of productwn G A L
® added to sales A
® ignored R : S .

10. Cost of production minus admmlstratlon\expenses equals to --:—1-x-4#--—1- m

® prime cost
e Cost of sales
® Works cost Qs SR SRCASI I Ik
° Work-m-progrgss , ,\ Pogllo S -."wi S \’ s
11.In Reconc:hat@n statement 0105133 StOck under valued in. f nancml accounts is -------
e Addedto Fmanma] prof £ : _
5 deducted from fi nénc;al prof‘t S e,
’ Added o Costmg prof‘ 3 A ARSI

(10 Marks)

Column B
A Where all cost can be directly charged to a group
of products

B Expenses debited only in the financial accounts
B_atqﬁcostlu D C Cost containing both fixed and variable elements
. A_dycﬁj_séﬁixéni ykal D Where all cost can be directly charged to a
WS ; specific job
v Page 2 of 14
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost Accounting

£ 5" R .".

5 | Canteen Expenses E Reorder level - (Normal consumptmn * Normal Sl
reorder period) ¥ AR s
-6 | Minimum stock Level F Regulation of cost’ - 57 & & Sl Py RSN
7 | Gantt task and bonus G Combination of time and piece work system T et
system
8 | Halsey system H Number of employees
9 | ABC Analysis [ Bill of Material " :
10 | Cost control J Bonus equals to 50%of the wagcs of tlme saved
11 | Semi Variable Cost K Selective control !
12 | Material Requisition L Salc_:s Yal_u_c '

period ended 31 March, 2019.

Particulars =AY > | Amount Rs.
Direct Wages S N T R SN 440,,()00
Purchase of Raw Materlal e A 4 R R
Factory Rent N S
Cost of Catalogues .= - w00
Sundry Expenses =~ " G §
Depreciation on plant and: Machmery:.--f_:--“-" 3y Rt
Opening stock of Raw materlal A S LD, 1,00,000
Repairs to Office furniture- D &S 50,000
Carriage outward L 1,02,600
Interest on Lodn P _ S o7 : 50,800
Closing:stock- Raw Matenal ¥ R D 60,000
FrecSampIes & ST 55,100
AuditFees- ' 46,000
Dcn“fBﬂstratlon Expénses RS 53,200
[FurnitureLoss by fire -~ : s 32,000
./ |Indirect Material DL A 8 AT 1,04,000
~-| Office Salaries. =~ = A e A 1,10,000
| Storekeeper’s Salary: & o o O 36,000
~ .| Depreciation.. Qfﬁcequu‘ fments. - 40,000
A sComimission on-Sales: = 3 62,700
- "Ditest Expensed ¥ > S0 3,60,000
‘| Material Handling Charges = 44,000
| Machinery Purchased 5,00,000

\chgr _nformatlom :
e 6 Smg stoék of Finished goods was 2000 units to be valued at Cost of Production

Page 3 of 14
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost'iA(;coq'nfihg-;:_;_ i

Q2 Following mformatlon is available for the ] ended 31° March 2019\, : e

Direct Material
Direct Labour
Direct Expenses

Factory Overheads
Fixed
Variable
Office Overheads- Fixed
Selling Overheads Fixed

Variable

Units Produced and sold 50,000
Selling Price

Rs. ';'2 per unit
Rs. 30 per unit
Rs. 20 per unit. =’

Rs. 30,00,000
Rs. 25,00,000 A T RSN

Rs. 10,00,000
Rs. 50 per Unit

Rs 400 per Umt

Following estimates are available for the year: crld.mg 31St March 2020 Y

i.  Units produced and sold w1ll be. &oubled 2 4
Direct Material Cost per Unit. w:l[ mcreas’e by 25 % 2,
Direct Labour per Unit will dec},ca eby 10% . R

il
iii.

iv.  Direct Expenses per unit wﬂl mé::gas@ by. 10 %
v.  All fixed Overheads will'increase by.1 0%

vi.  All variable expenses will increase by 20 %

vil.

viil.

Prepare Actual Cost Sliéet fg:‘n; the, ycar qﬁdmg31“ .March 20,1 9 and Est:

Remaining 20 % output w111 be exportcd where theproﬁt e"“-

80 % of the total output will be sold in local market at a prof' t of 20 % on Cost

pectcd is 50 % on sales

\’

mated Cost sheet for the year

ending 31% March 2%20 showmg fo;al ‘and per uﬂiCUSt L

Calculate profit forth
Calculate Sellmg\Eglcef the

ear ending 31% March2019-

LGcal and Export Market

Calculate cstlmated fotal:P; ﬁt‘ 'for the year cgldmg 31“‘i Maf;éh 2020

Q3 From. the followmgmfonnat;;on
FLFO aqd Wength ,AN erage

’\. 14""

I_-_ha“nd'of mat aIaég____I““M"

,.»

grepare §t0:fe§ leader & find out the value of closing stock as per
ast: metho' 3

(20 Marks)

h 2‘01 9 ‘was 5000 units at Rs 20 per unit.

'H\" Transactmn— "'-'-' Units Rate per unit Rs
~“Sales 3000 30
SCFLR 7 march : Purchase 8000 22
" m S Purchase 4000 23
S“ales 3000 40
_ ,\_P_urchase 4000 25
&~ ~“‘""Sales 6000 45

)

OR
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Paper / Subject ';éode: 23107 / Financial Accounting and Auditing VIII - Cos_t;. ccountin

Q 3 (a) A Company requires 20,000 Kgs of material Y for the year. Cost of Carrymg one KG of matcnal

is calculated to be Rs. 20 per annum. It is estimated that expenses of pIacmg an order Woulﬂ be
Rs. 500 per order

Calculate EOQ and number of orders to be placed per annum.

B AN

Q. 3 (b) From the following information calculate Machine hourRatcforth ; Q iIC

Particulars 3 S X Amount Rs

Purchase price of the Machine o R A O R RS 000 = :
Installation Charges _ 50,000 ok
Rent — Per Quarter : | 30; 000 y
General Lighting for total area- Per Month s, = .2,0000

Insurance Premium for the machine per Year -'_6;0003*“5?'

Foreman’s salary per annum . ._\ - s N 060,000 27
Estimated Repairs to Machine per anntim - A DX FARQ0OT > &

Power : 2 Units per hour @ RS 500 pcr IOOOaamts
Estimated life of Machine 10 years =~
Estimated Scrap Value at the end of 10th year Rs 1 00 000

Machine is expected to run for 20 OQO hours dig‘rmg';

Machine occupies 25 % of the total area. and foremﬁn\devoted 1!’6“’ of htS'f.]lTle for the machine
Q 4 The following data wczrc abtamed ﬁ-om the Books of Ara’dhaua Eng1 neering Company for the half
year ended 30“‘ Septembe“r 2018. The Cqmpany has Th ree. productlon departments A,B and C And

two Service Bepaﬁmentsx andY _ S = (20 Marks)
Parhculars -‘Dep’tA*Rs Deb_tB-ER;sf :DeptCRs DeptX Rs | DeptY Rs
Direct. Wages;_ Rso - - |.7,000. 6,000 | 5,000 1,000 1,000
Direct Material Rs. -~ |.3,000 ] 2,500 2,000 1,500 1,000
| Employees Nos. 200 150 150 50 50
-1 Electricity ~ Kilo-Watt- | 8,000 . | 6,000 6,000 2,000 3,000
% {Light Points -Nos,_ ~ - [10_~ ~[15 5 5 5
<o [ Assets:-Values-Rs. - 1750,000- - 230,000 20,000 10,000 10,000
“["Area Occupied s ‘-"metres 800 . | 600 600 200 200
\moir’lf-hs\ar’e:] sNIT
< | paricularss . Rs.
o] - - |-Store-Overheads 800
[ Motive. Pbé&ei' 3,000
Lighting - 2,000
Laboui'vwelfare 9,000
= & di[)sglgeg_lanon 6,000
Q' "5 | -Repairs and Maintenance *.1,800
X : -] | General Overheads ( proportionate to Direct wages) | 15,000
“ .~ <o ['Rent and Taxes 1,200
Page § of 14
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIil - CO_St“.AC-C'OH:I..'ID?iI?_l_g

You are required to-prepare Primary Overheads distributien summary for thc depamnents sh" wnl \gclearl y ."'; R
the basis of apportionment where necessary. N G A,
Q4 (a) From the following Information calculate the earning of worke under,

(50% of the time saved) and Rowan plan Separately. o)

Time taken to complete job 60hours .

Time allowed to complete Job lOOhours‘“',

Per Hour rate of wages Rs 3007 Sl 79 €727
Dearness Allowance Rs10 per day of hours worked. > SR
Working hours per day 8 hrs A Rk

Q 4 (b) Mr. Amardeep of Amla Co. Ltd. gets the foﬂow inge 'moluments@andﬁe
Salary per month & T RSHASO%; %

Dearness allowance per month : |'Rs.13125 - s
Employer’s contribution to prov1dent fund | 8% of salary and De‘amess Allowance
Employer’s contribution to ES OGN 4% ofSalary and.Dearness-Allowance
Bonus DS e 1.20%.0f Salary and- Dcamcss Allowance
Other Allowance R Rs. 68 LOU ST

] , : (10 Marks)
What are It’s objectlves and advantages‘? (10 Marks)
@_&\N o

(20 Marks)

o 73466 : Page 6 of 14
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. K ‘}\P )( Paper / Subject Code: 23115 / Direct & Indirect Taxation Paper -1 .
/ B "

By :X T8 com — Sem T — dofiefdeldaiis

[Time: 3 hours] s [Ma‘rk§:_"lﬂl}] 5

& 2 . .
Please check whether you have got the right question paper. PRGN ¢

N.B: 1. All questions are compulsory. :
2. Figures to the right indicate full marks allotted to the questlon
3. Working notes should form part of your answer. .. . = .
4. Use of simple calculator is allowed.
Q.1 A) Fill in the blanks with appropriate answer from the bracket and rewnte the statement (10)
(Any 10) ARGy
| is liable to pay income tax on his income. received i in [ndla (Resndcﬁt\f'“ on-
resident / Both Resident and Non-remdent) SRR R

2. As per Section 24, Standard deduction aIlowable on Let out house property IS
(Rs. 30,000 / Actual amount spent on repairs / 30 percent of NAV) :
. 3. Commuted pension received by a Government employee is (T axable /
Exempt from tax / 1/3 exempt form tax)
4. Qas, electricity or water supply prowded free of cost to an employee is"
(exempt form tax / perqu151te taxable in case of ¢ specified’ employees / perquisite taxable

in case of all employees) ‘«'..; ::-__:\; T S e S

5. Municipal tax is deducted ﬁom : of the house property. (Net Annual Value /
Gross Annual Valuef Muluclpal Valuatlon)

6. Sale of residential House Property is taxable under the head . . (income form

House PropertyJ Capltal gam! Proﬁt from busmess or profesSaon)
7. Gift recewed from fathcr is. A Y 2
(Taxable as busmes neome / Non taxal;le !‘T axable as other income)
8. Gratuity recexVed b)g\Govemment employees 152 . (exempt form tax / taxed as
capltal gam f taxed as proﬁt and gains, ofbusmess)
9. _Jndlan cmzen 1eavmgw«1nd1a for Employment is considered as resident in India in any
__-:_"'-'[)I'BVIOLIS year_: f he: stays in India for mmlmum days. (60 /182 /365)
10. Salary. recelved b)( a pa\rt;ner from hls firm is regarded as . (Profit and gains of
; business and profession / Income from salaries / Income from other sources)
VG 11.If a residential house property is- held for'more than it is considered as a long
>, _ term capltal asset (12 months ! 24 mqnths / 36 months)

. (Rs. 50,000 / Rs. 1,50,000

10)

2 Avon Prwate le ted isa Partnershlp firm under the Income Tax Act.
3:'.\Ex_larnmat10n fees recewed by a professor of university of which he is an employee is
5 taxable as: Salary

SN Property of the owner.

& 73655 | Page 1 of 14
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I_’;E‘tper / Subject Code: 23115 / Direct & Indirect Taxation Paper -J e

6. Deduction allowed under section 80 D for medical insurance premlum pald by the )
assesse for self, spouse and dependent children; none of whom is senior citizensis
Rs. 25,000. - :

7. Depreciation is allowed as deduction only when it is clalmed as per Income Tax Act

8. Remuneration received by Member of Parliament is taxed as’ Income underthe
income from salary. Y A AR

9. Past profit which was earned outside India by a non-restde‘ﬁt but brpught m _I‘dla i
current year is taxable in India in current year. A G ,;4 o A

10. Agricultural income derived from cultivation of land in Indta is exempt from tax.

L1. Gift received from a friend on Friendship Day of Rs 49 000 durmg the year IS exempt
from tax. S

12. Brokerage paid on sale of capital asset w11] reduce the amount of capltal gam e

G

Q.2 Mr. Ram Patil, who has physical disability to the extent ef 50%, works w1th le Excel (20)
Engineering, Mumbai. He provides the following partlculars of his i mcome for thqprewous year
ended on 31* March, 2019. ;

1) Basic Salary Rs. 48,000 per month |
2) Dearness Allowance Rs: 20 000 ‘per month _ Vs
3) House Rent Allowance Rs 15 000 per month [Exempt (under seqtlon 10) Rs. 9,000 per

month] e o

4) Travelling Allowance for: busmess tour Rs 40 00(} (Am ount_. a’ctually spent on travelling
RS 26 000) _ » ~»Z;. e ., | _\4 .: T T .:,

5) He was provnded mth the: aecommodatlon by hlS employer the perquisite value of which
was Rs. 48000 P FORYNIS

6) Bonus declared and pa by ernployer durmg the Sfear was Rs 18,000

7 Professmn Taxyala Rs:2, S0P, 55 TS S &

8) Employee s contnbu f 'Prov:dent Fund pald Rs 52,000
9) Leave Encashment_Rs;. 2?,000 bl AT
10) Medlcal Al [owance. 45,000 per yeat:

He\lS also the owner of two h‘ousos he prov1des followmg information about the same:

1) wLef Out property A

3 Falr Rent Rs:,24,000 per month Mumc1pal Valuation Rs. 26,000 per month, Actual
chtRs 28 000 per: month :Mumclpal Taxes Rs. 30,000 (paid and borne by the
tenant) Interest on‘housmg [oan Rs. 25,000

\

] 2,000.pt \:month Municipal Valuation Rs. 32,000 per month,
M umcipa“l TakeS"pald Rs 25,000, Interest on Housing Loan Rs. 32,000 loan taken on

3 <Followmg further detatls are provided for the year:

‘a) ‘_Ltfe“-'lnsurance Premium Rs. 25,000

'b):_ Depomtto Public Provident Fund Rs. 12,000

mpute-his taxable income for the Assessment Year 2019-20.
: OR
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Paper / Subject Code: 23115 / Direct & Indirect Ta?otion Paper -1

Q.2 A) MR. Mangesh Rajawade is employed with M/s Sahyadri Traders. He glves yoy\the fOIlowmg (10)
information for the previous year 2018-19. i T

Basic salary Rs. 6,00,000 per annum 3 - “ S8
Bonus received Rs. 1,00,000 P ILSGS
Children Education Allowance Rs. 5,000 per annum (cxempt _Rs.,,} 200 pen«»a‘_;
Dearness Allowance Rs. 1,50,000 per annum -~ -~ SRR
Entertainment Allowance Rs. 50,000 per annum’ %
House Rent Allowance Rs. 70,000 per annum (Exempt Rs. 28 000)
Uniform Allowance Rs. 16,000 per annum
Profession Tax Rs. 2,500 per annum paid
Medical insurance paid in cash Rs. 5,000-and paid by cheque Rs 15 000

10 Purchase of national Saving Certuf"qgte VIII 1ssue Rs 15 000
Compute his taxable income for the Asses ment '

PN LA LN

o

-
o b
&)

<

Q.2 B) Mr. Jones owns the following houses that are usc;i for resxdcnt;al purposes The detalls of his (10)
houses are given below. Compute h‘rs mcomo, ﬁ'om house property for the assesSment year

2019-20. TR TE
Particulaf <75 & SRR 8 SRS o TSI F I

Ny R ;_'i(j.S"'t';»,lfO'cci:l_pi_@'d)‘.' : (Let out) (Let - out)

Standard Rent (p,a) ORI S 50,000 = 2,40, 2,88,000
FairRent - ..~ = ;-)'-\ S el 220,000pm. | N 26,000 p.m.
Actual Ren_t;’: TEd T F F O VT EC S 0 79716,000 p.a. 23,000 p.m.

Municipal valuation (pa) .| 168,000 | 2.15,000 2,50,000
Municipal taxespaid -~ . [ 8400 .| 5% of Gross 5% of Gross
SOOI ERL LS PSS Annual Value Annual Value

1,00,000 1,66,000
Loan taken on Loan taken on

1.04.2010 1.04.2010
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Paper / Subject Code: 23115/ Direct & Indirect Taxation Paper - I : \ <

Q.3 A) Siddharth has earned the following income during the prev10us year ended 3 1St March 2019 _ (10)
Particulars o I AR g £ ot e 2
1. Income accrued in France and received in India
2. Income from business in U. S. A. controlled from Indla SRS S 5 1E 327000,
3. Profit of a hotel business at South Africa also control!edﬁ‘am [-’7-' TS 030,000

South Africa R R g WA A e S
4. Past non-taxable income brought to India B S \ 38,000~
5. Rent received from a-house in Mumbai . 725,000 |-
6. Income from proprietary business in Mumbai | 30,000
Compute his total income for the assessment year 2019 20 assummg, as fo_"l_lowé'.
a) He is a Resident and Ordinarily ReSIdenL = S : '_ A
b) He is Resident but not Ordmarlly Resu:lent " AS P PRIV ¥
¢) He is non-Resident Indian. : T~~'.' T S
Q.3 B) Mr. Suresh purchased a house pr@perty of Rs. 2 50 000 on 2"" Apnl 20()1 He made the (10)
following additions / alteratlons to thc honse properry . __.,- SISTES '

Cost of construction of 1St ﬂeormf’manclaiyqarZOOB-Oﬂ:Rs113020 .

Cost of construction on“d ﬂoor in: ﬁnanmal year 2010 11 Rs. I 40 000

He sold above prOperty on 20"‘ October 2018 for Rs.25,00,000. He invested Rs. 1,00,000 in
Rural Elecmﬁcatibn éorpnratmn lelted (RECL) bonds Un 30‘h October 2018.

N\ 10 l§m Indrap cmzen went for employment for the first time to London on 1% (10)
2 \Aprxl“ZO 13 and came on a visit to India on 1* June 2018. She left for London on 30™ December,
2@18 etermme herremdentlal status for the Assessment Year 2019-20.

Page 4 of 14
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Paper / Subject (i;f&de: 23115/ Direct & Indirect Taxation PaperA;;;‘I?,; :

Q.3 D) Miss Ruchita furnishes the following particulars for the previous year endmg 31,-_' 13-
requests you to compute the taxable capital gain for assgssment year. 2019 DO
a) She had a Residential house purchased on 01-04-2001 for Rs 5 00 000 IS

b) In the year 2012-13 further construction and improvement cost'was 1ncurred Rs 60, 000
c) On 10-05-2018 the house was sold for Rs. 50,00,000. Expendlture in connectlon with the

transfer Rs. 5,000 : -
d) On 13-12-2018 she purchased new residential house: er Rs 25,00, 000. IS

e) She deposited Rs. 25,000 in eligible bonds 1ssued by RuraJ Elecfnﬁcatmn Corpor tion” &

Limited (RCEL) on 20-09-2018. . & "

f) Cost inflation index (CII) for financial year are us Lmder

Financial year | CIF. -~ Sdrn ol R “~
2001-02 100 : S
2012-13 | 200 ¢
201810 [280 S PR LSS
Q4 Mrs. Manisha is the proprietor of XYZ& Co. Follqwmgqs théf“' t‘of t and loss account fcir the  (20)
year ended 3 1% March 2019: SO TI TR FSS
Particulars S RELE '-_C?Pa’rf’téﬁlafé G e ot e Rs.
To Salaries 3 2,15,000 | By Gross Profit SaTS S 12,75,300
To Conveyance : 23,050 | By Income Tax Refund : 35,700
To General expenses T 22,900°| By Agricultural Income from 45,000
Je.e | cultivation'of land'in’ lndla
To Interest paid ~ 750,000 | By Rent from H\Qung’roperty 1,80,000
I ,(LGP) Sd Ty
""Byi’lnféégé: __Q._S_aving Bank 13,000
S et Account\
.= 5 18,000- By Share of Proﬁt from 65,000

-Partnershlp firm

To Advertisement expenses ' 25,000
To SfaPE;WeilfarQl-' SRR L P50 [
To Depreciation:" S| 280004
| To Stationary. expenscs TR SR e 20,0007)
[ToNetprofit - -~~~ - < |-11,25,000
GO o s e o 16,14,000 16,14,000

' Additiohal information:

Generahexpcnsps mcludes Rs 15,000 Paid as contrlbutlon to LIC Pension Fund.

' 2 ]Lnte st paid in¢ u _'S*RS 28 400 interest on Housmg Loan paid to Nationalized Bank.
' - ,GST“ mcludcs' ' 30'0@0 paid towards penalty for delay in filling of returns

3 ”/‘“Iﬁ\cemé T%J( réfurtd mcludes interest on income tax refund Rs.5,700.

\k p

OR
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Paper / Subject Code: 23115 / Direct & Indirect Taxation Paper ;I

Q.4 Mr. Mahesh is the proprietor of LMN & Co. FoIlowmg is the Profit and IOSS éécbunt for th__é yca;;f'_(iﬂ)' s

ended 31% March 2019: | SOl S I E SIS
Particulars Rs. Partiglafs 'S 0 & SRS Spe

To Salaries to staff 3,95,000 | By Gross Proﬁt _f" A T ] 10,00’500“% ¢

To Rent 87,000 | By Interest on PPF = ST 25,000 |08 :

To Printing expenses 22,900 | By Salary from Patej & Co 562, a0 0

To General expenses 65,000 | By Old bad debt recovered | = "17,500 FORSES

To Interest paid 69,000 | By Qlﬁ:ﬁ_'om fa}h_ﬁl"_ R 7 25.000° e

To Advertisement expenses 18,000 | . ,\,;.' o % N —

To Conveyance 32,100 [ £ 27 S oo X, R o BN I

To Office Expenses 25,0095: T3 P § A g T :

To Motor car expenses 10,500 ' A

To Life Insurance Premium 18‘,0'\;_)0 T &g S

To Depreciation 32’500 RS T TR, R

To Net profit 9,55’000 DL S AT, b5

Total DA C 2 S R S S e o 17,40,000

Additional information:
1. Motor car expenses includes personal motor car expenses to thc extent of 25%.

Depreciation as perIncome Tax Rules is Rs. 28 700.

Old bad debts recovered in respect ofwhlch deductlon isy not aLfowcd in the past.

Interest paid moludes Tnterest ofRs. 22 OQD on an_fo_r_ h\l-gllég.ﬁducation of his Son.

Mr. Mahesh 13\&1}90 m“‘éemce w1th Ws «Patel &;«Co and thf; details regarding salary

received ai‘e smpﬁer oV DR

a) Basic salary Rs: F oS

b) leamess Allowancc»Rs 25 000 per month

c) Housc Rent allowance recelved Rs SOOOqur month (exempt to the extent Rs. 2000
per.z‘n"onth) 2 SR B S i

S5

A

T e)' Entertamme 0Wance Rs "12\,000 per month
5 :-“7_ oike Professxonal Tax paid Rs2, 500,>

Cqmputc the Net Taxable income of Mr. Mahesh for the Assessment Year 2019-20.
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Paper / Subject Code: 23115 / Direct & Indirect Taxation Paper —I .

Q.5 A) Discuss the provision of Income Tax Act, 1961 regarding Residential status of an I|1d1v1dual ; '(10) IR
B) Define and explain ‘Person’ and ‘Previous year’ as perlncome Tax Acl’ 1961, S L) ISR

OR

Q.5 Write short notes (Any four)
1. Gross Annual Value \

Allowable depreciation from profit and gams busmess and pro essmn

Deductions U/S 80 C. A

Perquisites under Income from salariés.”

Deemed to be let out property.

Income from other sources.

N B e 22N
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Paper / Subject Code;: 23i29 / Elements of Operational Research ng;

Note:

Q.1

54871

1.

2. Figures to the right indicate full marks.
3. Use of non-programmable scientific calculator is allowed. .
4. Graph papers will be supplied on request.

A.

2 01 &R

Time 3 hours Total Marl.(s_:.:"fldo

All questions are compulsory.

v)

Vi)

vii)

Viii)

i)

Answer whether following statements are True or False.

The replacement theory is concerned with replacement of assets
when ‘they stop working completely. _
When time value of money is considered, costs needs to be
discounted.

For each basic variables in a given solution by simplex method,
whether optimum or not, the value of 4 (c-z) is always zero.
The feasible region of a linear programming problem is always a
convex set.

It is necessary to covert the equality constraints into inequality
constraints for writing the dual of a linear programming problem.
An unbalanced transportation praoblem must be converted into
bélanced problem, before solving it.

The initial solution to any tré'nsportation problem by the least cost
method is always optimum solution _

The cost elements in "the dummy row or column shall always be
taken equal to zero.

Select most appropriate choice for the following: 7
Decision variables are

a) controllable ] b) uncontrollable

C) parameters d) none of these
Operations Research analyst do not
"a) recommend decision and accept b) predict future
feedback
c) collect relevant data d) none of
these
Pagelof6
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Paper / Subject Code: 23129 / Elements of Operational Res}a-.arch Papéi""-_ I

i) The group replacement policy is suitable, for the identical low cost
items which are likeiy to

a) fail over a period of time. b)  fail suddenly
c) fail completely and suddenly d) none of these
iv)  Which of the following is incorrect with reference to transportation

problem?

a) MODI method is used to test optimality of a SO|LIUOH

b) A closed path will consist of even number of corner cells.

c) Existence of multiple opnmaf solutions is indicated if there are
multiple zero values for U; and V.

d) none of these.

v)  One disadvantage of using North West- Corner Rule to. find. mmal
solution to a transportation protiem is that

a) it is complicated to use. :

b) it does not take into account cost of transportation

c) it always leads to a degenerate solution

d) all of these.

vi}  The presence of artificial variable in the basic variable column of
optimal simplex table, indicates that the solution is -

a) unbounded b} degenerate
c) infeasible . d) none of these

vii) _If a redundant constraint is removed from a linear programming
' problem then the feasmle

region
a) will become larger b) will become smaller
c) will remain same d) none of these
54871 Page 2 of 6
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P.iper / Subject Code: 23129/ Elements of 0perat10nal Research Paper~

C. Answer briefly in one or two sentences:

i) What is a feasible region with reference®to L.P.P.?
ii) Deflne slack variable in L.P.P.

i) What is the use of dummy row or column in transportation problem?
iv)  What is meant by gradual failure?

V) What is meant by the rim condition with reference to transportanon
problem? '

Q. 2 A The following table provides transportation costs per umt of a product from 20\
four origins to five destinations. The capacities of the . four origins A,B,C T
and D are 55,45,30 and 50 units respectively while the requirements at the
five destinations II1,I11,IV and V are 40,20,50,30 and 40 units respectively.

Destinations
o e v
12 -4

Origins

O IO,

9
6
(124
10115 6

L—k\l\l@(

ololo]>

Use Vogel's Approximation Method to find initial solution and determine the
optimum cost of transportation. s the solution unique? If not then find the
alternate solution also.
OR
B. A leading firm has 3 auditors. Each auditor can work up to 160 hours during 20

the next month during which three projects must be completed. Project 1

will take 130 hours, project 2 will take 140 hours and project 3 will take
160 hours. The account per hour can be billed for assigning each auditor

to each project is given below:

_ Project bill amount per hour in Rs.
Auditor . - -
Project-1 | Project- Project-3
1 1000 1300 1700
2 1200 1100 1000
3 1400 1200 1300

Formulate this as a transportation problem and solve it to find the maximum
total billing amount during the next month.

54871 _ Page3of 6
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Paper / Subject Code: 23129 / Elements of Operational Research Pgﬁér-

Q3 A A company produces two products A and B using two raw mater‘pals R, ahd. 20k
R.. The profit per unit on prodilrt:t A'is Rs. 28 and on product B is Rs. 30.
One unit of product A requires 6 units of R, and 3 units of R,. One unit of
product B requires 4 units of Ri and 5 units of R,. The two raw materials :
Ri and R; are available 18 unit and 30 units per day. Besides raw mat'éria!.'- .
each unit of product A requires 3 hours of labor time and each unit of__'-:,-'
product B requires 1 hour of labor time. In all total 8 hours of_labof is -

available daily. Formulate the above problem as linear programming problem -
and solve it by simplex method.
OR :
B. i) A firm is engaged in breeding pigs. The pigs are given two 15
supplementary foods A & B containing three nutrients namely Ny, N,
and Ni. The contents of nutrients in the foods A and B per unit and
their requirement is as foliows:

Nutrients | Nutrient contents per unit in foods: Minimum requirement
A r B of Nutrients for pigs.

| . | !

N, 3 .' 12 [ 36
Ns 20 ‘ 10 [ 100

If food A and B cost Rs. 20 and Rs. 40 per unit respectively. Formulate

this as linear programming problem and solve it by graphical method.
ii)  Write the dual of the following linear programming problem: 5
Maximize Z=4X, +2X; +3X,
subject to X; + oX; - 3X; = 80,
20X+ X, +4X, < 40
Xy -6X; +3X; =10,
X120, X>0, X; >0

Q.4 Attempt ANY TWO of the following:
A A computer has 5000 electronic tubes. The failure rate is given below: 10

Fear 1] 2] 3 4]s
| Probability of
0.1

0.25/0.35[0.2|0.1

failure:

If \t_he tubes are to be group replaced the cost per tube is Rs. 2. The cost
of individual replacement is Rs. 10 per tube. Find the optimum
replacement policy for the tubes.

54871 Page 4 of 6
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Paper / Subject Code: 23129/ Elements of Operational Research Paper-1 ' -

B The initial cost of the machine is Rs. 40000 and running cost increase '1'0':____ A
with the age of the machine is given below:®

Year 1 2 3 4 5 6 7
Running cost(Rs.) | 6000 | 7000 | 9000 | 11000 14000 | 17000 | 20000

It is given that money is worth 10% per year and the scrap value ‘is nil.

Find the optimum period of replacement for the machine.

C For the following data find the optimum period of replac’ément: 10
Initial cost of the machine 60000

Year 1 2 3 4 5 6 AR o

Operating
t 10000 | 12000 | 14000 | 16000 | 20000 | 24000 28000 | 32000
cost: : .
Scrap s
| 30000 | 15000 | 7500 | 3750 | 2000 | 2000 2000 | 2000
value:
Q.5 Altempt ANY FOUR of the following
A Explain the following with reference to Operations Research: 5

(i) Deterministic Model (i) Probabilistic Model
B Explain briefly any five advantages of Operations Research. 5

C Explain unbounded solution with reference to Linear Programming 5
Problem. How to identify this in simplex method.

U Write the Linear Programming Problem corresponding to initial simplex 5
table for a minimization problem given below:

S G; SI13(C{0 MM
Basis -
Solution X % | s s, ala
Ci Xi b| 1 2 1 2 1 2
0|S, 12 214 11]0|01|o0

Ay 10 2121001
M| A 10 S|12|0]-1]0

54871 Page 5 of 6
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Explain in brief: Degeneracy in the solution of, a Transportation Problem™
and how to remove it? :
The table below has been taken from the solution procedure of a
transportation problem. '

Dy | Dy | D3| Dy | Supply | -
S; 15110 14| 15( 10 .]
S, |16]18[17|12]| 25
Ss |14]12)15]17| 20
| Demand [ 25| 10| 15| 5 )

The allocations are Sy - D3=10, S, — D, = 20, S; — Dy = 5,
S;—»D,=5,Sg—aD3=1O.Sg—+D3=5
Answer the following questions with reasons:
i) Is the above solution feasible?
i) Is the above solution is optimum?

iiN) Is the above soluticn is unigque?

Page 6 of 6
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Paper / Subject Code: 23116 / Export Marketing Paper - I L
‘ B I N O VA

[Time: 3 Hours]

Please check whether you have got the right question paper.

N.B: 1. All questions are compuisory. GraE AR g
2. Figures to the right state the marks alietted:to'the questions.
1. “A) Select the most appropriate answer from the optioqg:’émenibiflb
1. Export marketing usually involves S :
* Extensive documentation :

e Norisk
2. The risk of loss of goods while in transit'due ¢
risk.
* Legal

e Commercial

such as weight, volum.@-br.-@_pﬁ;bg
e Compound
* Protective N R

5. NAFTA isamgsfggﬁﬁﬂ,l%ng“

W\ !“v

T v

*  North Ametica; Finland and Thaitan ¢ -Singapore Malayasia and Cambodia

) . Canadzﬁ‘&@ irid Ve *:India;Chida and Russia

& i a\#dﬂeyﬂ;@tﬁjﬁnfomatlon in foreign

Rinfies afd chalienges.

b

',\'-/“‘:“' . "
.'-.*,;éf\ustom formalities
Xsad :

%

AL -
~*Schemes introduced in FTP 2015-20
Export promotion organisations
' items.

i -I‘ VL d Sy ?‘ '

- A ¥ SExportwativhigh duty: - * Free export and import
- 3 e Exportwith fimited duty A e Prohibited
9 (ABZs arcainied at developing exporsof
S - < a mdilsihe’scs\ VN * Arts and handicrafts
commodities - < * Automotive industries
emy ’?@ﬁg&%}ﬁéneﬁts with regards to procuring raw materials.
E s ASIDE
S e MDA
SVernment of India, concerned with ‘Organising trade fairs
ndia‘and abroad. '
e ITPO
o IIFT.

scheme exporters can claim for the refund of customs duty paid
of raw materials, components and packing material.
* CGST refund
e EPCG

v -

Page 1 of 5
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B) State whether the following statements are True orFalse (Any ten
1) Export marketing involves custom formalities.
2) - Exporter marketers may face risk of cultural differences an
whlle expo*tmg
3)
4)
5) India is one of the foundei members of WTO. g
6) Consumer choices and degree of competmon are: 1mpgﬁaht\dqté§3mn._
market selection. g

5

7) Five star export houses need to have rmmmum export pertbmances uf U r‘___"'f

million. 4 S Y
8) . In Deemed exports, payments can be made in forelgn as wclI as Indlan currency

9) In Maharashtra, ‘Integrated Industrial Area is. mtroduced as an Ex;.’Scheme for T

failed SEZs. oF 5 s
" 10) Exporters can import second hand fcapltai goods nnde‘n’.Mgﬂ scbmn&at_
duty. N 5

I1)IIP is basically an academic msntﬂ;&WftQ
12) EPCG scheme is concemed m{h,_g

2. Answer any two of the foIIOng
a) What is Export Mark Qg:;g? Ex;ﬂam

b) Explain the varlogs{-ﬁ'ﬂﬁw cel:[
¢) Discuss India’s s o?t

ﬂqp basm featurésqﬁﬁa:pert "ﬁketmg
wI‘ndla scxﬁort setor: £

4. Answer any gf

P

‘-r-‘*‘-}- reaeathe Indians

Xty

L

Authonsatlon Scheme.

-J ' ;@, S

- h ;tnotesmglﬁa\h}rﬂfgmfﬁfih f@llowmg -
ctgfs‘ﬂlﬂuﬁn‘mg{ﬁfpﬁﬁ marketing
-tarifi Batriers

¥khkEEREk K%

Page 2 of 5 _

O0EB83718F441E2563604F7828D50667

snded by Commodity Boards to Indlan exporters.

15

15

15

15

20

(-



Paper / Subject Code: 23101 / Financial Accounting and Auditing VII - Fmancxal Aeeountmg

N i vgfm ( Jm 9

J] lo['

Time: 3 Hr. e T Marks 100;_; Jh g
NB.: 1) All questions are compulsory. \;/; | : ;
2) Each question has internal option. SRS Nl S 1@:'.

3) Figures to right indicates full marks. o oAy ': 5 S ¥t
4)  Working notes are part of your answer. D S G T D D S

Q.1. (A) State whether the following statements are True or False (any Ten) T (10)

1. The buy back of shares has to be authoused by Artlcles ofAssocratlon T Y
2. Internal reconstruction involves reductlon in capital. o - oo 5;"\ a 2 5, :": Sy I
3. Amount paid on Forfeited shares is added to paid up- capltal in the Balance Sheét

4.  When the rights are sold without subscnbmg, no entry is made m mvcstment Afc

5. Equity shares can be bought-back out of Free reserves. S '

6. Capital Reserve is a non-free reserves. AV By

7. Any company can undertake capltal reductlon DA ;'

8. Liability in respect of b1lls dlscounted is not an Example of contmgent llablllty

9. Short-term investments are carrled at us cost p‘rlce only N7 {C' :-‘\_-‘_

l

0. No company shall buy back its own. shares unless:the buyback is | less than 10%. of the total
paid-up capital and free Reserves of the Company. s

11. In Internal reconstructmn amount of shares su_rrender
General Reserve Account 3 (S :

12. In Ethical v1ews ethlcs rema’,ln same at all the tlmg andevery place iy

b :?shareholders is transferred to

Q.1.(B) Fillin ;he blanks ehoosmg thc correet alternatlve a“ny ten) (10)
. As perAS 13 the costof lnvestmentssold iSVlO be calculated T ) PR method
(FIFQ LTFO) wclghted averagc srmple average) -

2. The con{ponents of'w "rkplace ethlcal behavmur are ................. .
"(honesty,»legalrty, dlsolosure all of“these)
The: carrymg amount Qf long term mvestment is to be shown | O :
A (cost market value,: fase value, cost‘or market value whichever is lower)
VR Chargmg cost of famlly dintier to be company Wi "
e (m:sapproprlat:on of assets, fraudulent reporting, ethical reporting, all of these)
55 The amount not collected by shareholders should be shown as ................ .
)8 -~ (current llabtlllles capltal reserve - share capital, reserve capital)
- Before buyback all the shares must be ...............
S (partly patgl up fully pard “H fully subscribed, forfelted)

; __.-i'_The etthal lssues faced by the accountants include ................. ;
Do (accuracy,' acgountgblhty, values and moral, all of these)
8 :"Payment%of drv1den¢15 basedon ................. capital.
(pald up, authonsed issued, reserve)

it
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unt ¢

9. Schedule I1I-of Companies Act 2013 requires profit and loss acco

(horizontal form, vertical form, convenient form, columnar form) <

10. Interim dividend of a company can be declaredby ......cccoreeee

e

fidn
)

board of directors, managing director, SEBI)"

(shareholders,
11. The scheme of Internal reconstruction required sanction,

\\.\ -
S ag
ac

L

all of these

(shareholders, articles of association, court,
12. Z Ltd. has 8000 equity shares of Rs.100 each fully p

s Ty

aid,
e after

eb;

¥

Sk
n

o

e

11\\

(=]
() (el
>
[ ()
SEEER
o (el
SEEEE
s o
=7
«x\«/ .%W
pLE b
n.\__m n=t
L 8.
/ar\v; £ el

e

'\gﬁéi

um

¢li

I

Y

72

000

10,00,

A

Liabilities

equity shares of Rs.10 each. The number of shar
Share Capital

(8000, 80000, 75000, 60000) |
Q.2. The following is the Balance Sheet of Falguni Limi ed

1,00,000 Equity Shares of

Rs.10 Each

10% Preference shares of

Rs:100 Each

72}
0
—
3
N
=
kD)
O
0
A
X
o
—

&=
]
[

o
=
V]
>
=]

=
<

28]

[75]
[
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Elg
2
EE
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,000, Stock Rs.60,000,

c;{f;éme of reconstruction and the

e’

e e .
vidend are in arrears for four years.

I\

&

e
e waived and remaining to be paid in

yeach and equity shares to Rs.2 each.

“
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i

ed loan of Rs.1,50,000 at the rate of 12% interest by

sets to be written off.

%

o

d

i

iled as follows : Furniture Rs.30

0, Sunday Debtors Rs.70,000

—
ct

$

i

d prepare Capital Reduction Account and Balance Sheet

ere
et

i
A

L
o

S

"

ewva

e

'V‘\’
e
Idv
mounted to Rs.20,000. Pass necessary journal entries to

X

% T o
3
:
o

(4

o

b
53

[

tious
asecur

%

*

4

s
l
oy

Rs 6

i

Buiilding, for repayment of bank overdraft, bills payable and

anses a

o
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31st March, 2019

Liabilities Rs. . &  Assets
Share Capital Authorised: 10,00,000 | Equipment's
1,00,000 Equity Shares of 3
Rs.10 Each. : \,\f
Issued : 4,00.000 Computer S@ﬁwa
40,000 Equity Shares of Loans and: Advam:cs g
Rs.10 Each Trade RECEEMIES -
Reserves : Fact{;i?j&ﬁiﬁl,ﬂfﬁﬁg
General Reserves 4,00,000 echrntyDﬁpﬁsxt
Profit and Loss Account 6,00,000 G‘ash on Har(d 9
Securities Premium 2,00,000 .=
11% Debentures 14,00,000° ﬁ“;;.c ;
Bank Term Loan 6,00,000-""
Creditors 1 OOQQQON g N A
37,00,000>" ' e 33‘0\01000

The company decided to buyback the. maﬁu’mjﬁinuﬁlber ofcq ty shiar

price under the law as on 31st Mal;-‘c ;201 19, Q\x, 5

Assuming that the Buyback of shaf‘cs 1@11]3&1]191;15 by -arﬁch&éﬁﬁ nécessary resolution

is passed by the company towand&thm buyb “'Ie-\c';gg’éﬁ"w-]ou\ ﬂ\E;kthcgfin the books of

the company. Also prepare:‘NQ“tes to Accounts‘ wlth' respeéf fo Sh?re Gﬁpl(’@ and Reserves and

Surplus as they would apg‘“ear Jﬁ“Noteai‘Qg‘In‘ﬁg‘pﬁrt‘o’ B'glahc - Sheet
ce

atThé'ma;ﬁQlum p0551b[e

Q3 Followmg is theJ‘rlal ba1

o SN o P

3 .s‘t March,2019.

& hnﬁhﬂyplarsx S \fi*w Credit Rs.

20000 Equltysha“reﬁ G Rs:100 each ﬁiL 20,00,000

10000 10% Pref,VShdr‘éh\%ffRﬂ 60*3_,@@ 10,00,000

General Reserv’e*“‘ g ) 1,00,000

Publicdeposits.> 4 - 25,000

8% Debentures afR&@OO*,c 10,00,000

Profit & Foss. aam{nwt‘cf“}s o 1,50,000

[ Provision for tax: \C:gﬂ\’ 25,000

Sundry Creditors: = 0K 75,000

‘I Bills:Payables - e 25,000

<7 FAdvanee- regewéd«f@am clistomer 0 < 12,000

_Bmi@qvmarmtmﬁban@‘ﬁjru\am) & 35,000

& G fDm IDBL o e R A0S 1,28,500
SIS P.xed‘es’aetsmeéblb‘ck‘)?;" Sl 38,70,000
& Hnvestient in Oshgf@%ﬁ*@lﬁ&“f{m. 3,25,000
*.O S|Stock on 31st Marci 2019 120,000
Y 'ﬁéﬁkfba]hﬁég‘ﬁiﬁ\ﬁmﬁf"Mahmashtra 1,20,000
S Cashm\hand‘” S5 27,500

ESLNT

3o0f15

749D522B052ADA1213D2D503C1D77910

(20)



.

inanci

F

ting VII -

23101 / Financial Accountiﬁiig and Aud

Paper / Subject Code

Advance to supplier

'Short term investments

Bills Receivable

Sunday Debtors

Additional information

1) Authorised share capital of the compan

each and 20000 10% preference shares

2) Debentures are secured against the

3) Debtors includes debtors Rs.7500 ;
4) Stock on 31 March 2019 includ

Raw Material
Finished goods
Work in progress
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ad 50,000 equity shares in Tata Ltd. The face value was Rs.10
4 of 15

hased 10,000 equity shares in Tata Ltd. at a premium of Rs.6 per
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Paper / Subject Code: 23101 / Financial Accounting and Aud[tmg VII - Flnan(:lal Accul.i-ll\tmg

—,<\ TN —_~
s

e
b R 4

On 1/1/2019 he purchased 5000 right shares in Tata Ltd. Rs.10 each at“ﬁvs

On 31/1/2019 he sold 20 ,000 equity shares in Tata Ltd. of Rs. lpkea"éll
share. { i‘

Q4.
12% Debentures of Rs.100 each of ABC Ltd. Inte_'
on 1st April and 1st October each year.

Date Particulars
1/9/18 Bought 350 debentures at Rs. 9\0 oum—lntéresf N

1/12/18  Sold 700 debentures atRs“Qs e}(—mtérest
1/2/19 Bought 500 debentures at RsH Cr

al Bl 11?:

the ad]ustments gﬁ'eri\prepa et Q_‘f _

Q.4.(A)

Par:fi&l\lhrs SR N A VS Cr.Rs.
Called up Capital £5000: ‘shares 6PRs f0each~< & o S 1,50,000
Securities premifi S o S o SIS 30,000
Capital Reser{é > &0 ' & 17,500
General reserves . “’f‘* 35,000
Stock asﬁnd@ftZOI%J RS 1,00,000
PurchaSes and%,aiés 'é"@f TooeS | 512,500 7,20,000
Renirrﬂmard" ‘“‘;i\‘i{e\tq A 7,500 12,500
P{oﬁfgmt«Los,s statem nts. 7,500
| PlintandMachirery < < ,'fr" 75,000
< Building O ff“*“‘*“ 1,00,000
M@(@“r_‘!ﬁn‘“ SIS 50,000
’htt?t;é‘ana,CredﬁQ m‘:; z 81,500 50,000
terésb (paid & rece 3,000 500
62,500
14,250
, i’fﬁgﬁ?gfﬁi ST OF 20,000
3 C‘aﬁﬁq’i'lﬂahd? ”‘"“‘ B L 2,250
3 ShﬁrgmsthXp; ,{ "::? 15,000
: M@ﬂ[\faqtunug Wagq§ il 45,000
' Ve 30,000

Sof15
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Paper / Subject Code: 23101 / Financial Accounting and Auditit_l;é VII-F

Write short notes (any four)

a) CSR

d) Maximum Limits on Buyback
f) Pre-acquisition dividend.

7 of 15
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R Paper / Subject Code: 23122 /Psychology of Human Behaviour at work Paper - I/ IS{ lt? l I‘?

Qe%ad@)\ B Serm VT ot 2219 EXan

[Time: 3 hours] o Marks: 100 '

Please check whether you have got the right question paper

&

N.B. 1) All questions are compulsory.
2) Figures to the right indicate marks.

Q.1 A  Complete the following statements by selecting’ the approprlate answersq 5 10 =P

(any 10) o &

1) is a process that includes defining goals establlshmg strategy and
developing plans to coordinate activities. =~ Pk 4
a) Planning b) Leading :
¢) Controlling d) Organizing

2)  Managers who are required to perform duties which are cercmomal and symbohc i
in nature are called S S S < R : '
a) figurehead b) monitor : e
¢) leader ST Sd) negotlator " ' :

3) function mvolvcs moritoring activities to ensure they are belng

- accomplished as planned and correcting any significant deviation.

A’) Conceptual R ~b) Decisional
¢) Leading S G ' d) Controllmg

4) are: évaluatlve statements e:ther favaurab]e or unfavourable about
objects peopleger even’fs o ; :
a) Attitudes: : ) b) Moﬁi\kes' -
c) Beliefs b : + .d) Actions

5)  The emotlonal:or*feelmg segmem of an attitude is callcd as component.

: - ol S S E PP cogmtlve
. ‘d) motlva‘tmnal
an mpﬂ _yees behef in the degree to which they

S mﬂuencc thelr woi'kzenvuonmenr competence ‘meaningfulness of their job and
perccjved auto_‘ 13

6)

a)Psychologmaf’empowermeht _ b) Organizational commitment

v c) Job engagemcnl x S d) Job involvement

s N Aﬁcctlon bel\gmgmgness acceptance and friendship are elements of
_ . ; b) social
F3 d) esteem
" S 8) s‘{he(zry of needs focuses on needs.

> d) six
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%) is the perceived degree to which one is treated with '&iguiiy“a'nd
respect. : - & _
a) Distributive justice b) Interactional Jnstlee DTS
c) Procedural justice d) Organlzatlonai 3ust1ee A, -‘}"__
10) are better predictors of the emergence of leaders < F R T8
a) Behavior b) Trajts X5 &8 P n
¢) Educational qualifications d) Followers -~ B
11)  Relationship oriented leaders perform better in situations.
a) Extremely favorable b) Extremely unfavorable
¢) Slightly favorable d) Moderately favorable
12) leadership theory states that followers make attrlbutrons of heroic
" or extraordinary leadership abilities when they observe certain behaviors.
a) Charismatic . b)Transactional o e 2 | e
¢) Transformational S d) Mentormg : .;:%_ 3
Q1 B State whether the following. statements are True or False (any 10) % 10
1) Leading involves motwatihg employees dlrectmg others seleetmg the mest
effective commumcatlon channels and resolving: CQHﬂlCtS .
2)  When the manager is respOHSIble for motlvatmg and dlrectmg employees he is
performing a ﬁgurehead role -~ - 23
3)  Intechnical role»man:agers mamtain a nEtwerk of out51de“corxtact that provide
favors and mfolmatlgn SO R S
4)  Attitude has two' cpmponents , - P
5)  The motivatlonal component ofar an atmude isa descnption of or belief in the way
things are.
6) In orgamzat:onal ‘commitment an employee identifies with a particular
organ 1za1;10rr and.its goals and wishes to: remain-a member.
) Aptltude 1 astﬁ'es how long a persmi an mamtam effort.
8).:5. Fredenck HerzbE:rg\ posed thefI‘wo-Eacto:ﬁheory of Needs
9) . The percewed'ﬁnﬁ ss\oﬁthe amount and allocation of rewards among
e mdmduals is’ known dismbutwe Justlce
-10) "Leadershlp is’ def' ned as the process that account for an individual’s intensity,
e direction and pemlstence of eﬂ"ort tuwards attaining a goal.
1D ﬁTarget is a lougvte :
Y
: QZ S ;;'Answer any tWO of the followmg 15
: : a)\_'-:.- 3 Deﬁne and the term manager and organization. Explain the various skills used by
.~ amanagerinan organization.
S0 ISR ‘Orgamzatmnaf Behavior is an applied behavioral science built on the
G \A contrlbutlons ﬁ:om a number of behavioral disciplines”. Explain.
: ‘¢) - How. clo managers cope with globalization and maintain a positive work
Zk env1r0n,ment'7
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Q.3 Answer any two of the following
a)  Name the major job-related attitudes. Explain in detail any two major Job-related
attitudes. N
b)  Write a detailed note on job satisfaction and explain its relationshjp to
absenteeism and turnover. !
¢)  Explain the exit-voice-loyalty-neglect model.

-\...:_ L i e

Q.4 Answer any two of the following S Rx BT e
a)  Describe the three elements of motivation. Explam the theory of needs by
McClelland. ;

b)  Write a detailed note on goal setting theory.
¢)  Explain the Equity theory of motivation.

Q.5 Answer any two of the followmg o5 :
a)  Discuss Fred Fiedler’s contmgenc model 'Qf leaderbhlﬁ '
b)  Explain transformational leadershlp g

¢)  Who is a mentor? Explam the twq funcﬂons assocmted ina mente\r and protege
relationship. :

o \\'

Q.6
a)
b)
c) Measur&mentof" ob satxsfacttqn“ ;
d) Theory Xand'Y :

e) Expectancy theory of motivation -

f): "Behaworal T'henncs of Lead rship
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